Cash Flow Statement Indirect Method
Only change in operating activities 
Format 
	Particulars 
	Amount 

	Net income …………………………..
Add: non- Operating expenses 
              Depreciation of fixed assets 
              Written of ( Intangible assets )
            Loss on sale of fixed assets 
           Other non-operating expenses 
Less: - Non-operating income/profit 
            Appreciation ( Gain ) 
            Profit on sale of fixed assets 
           other non-operating income 
Add:- Increase current liabilities and decrease in current assets 
less:- Increase current assets and Decrease in current liabilities 
Tax paid 

	Xx

Xx
Xx
Xx
Xx

(xx)
(xx)
(xx)
Xx
(xx)
(xx)

	Net cash flow from operating activities 
	Xx(xx)
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Q no 11 ) 
Solution    Cash flow statement using indirect method
	Particulars 
	Amount 

	Net Income ……………………………….
Add: Non- Operating expenses 
less:- Non-operating income
Less:- Increase in current assets 
	140000
40000
-
(80000)


	Net cash flow from operating activities 
	1,00,000


Q no2)   Cash flow Statement using indirect method 
	Particulars 
	Amount 

	Net income 
Add:- Non- Operating expense 
Less:- Non-opreating income/profit 
Add:- Increase in current liabilities and decrease in current assets 
less:- Increase in current assets and decrease in current liabilities 
	7,00,000
-
(30000)

40000

	Net cash flow from operating activities 
	710000
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Decrease in current liabilites......

Less: Taxpaid
Net cash flow from o

EORETICAL QUESTIONS!

Define cash flow statement.

am g faavomrg afeafoa e

Mention the items relalmg to cash flow from operahng activities.

T YARH] FAATAA] FRaraarTay aaast g7 avdes IeTa T |
Mention the items of activities that are performed by cash flow activities.

UMERICAL PROBLEMS}

YERY SHORT ANSWER QUESTIONS
3 From the following information calculate cash flow from operating activities under indirect method. "

Net income Rs. 1,40,000

Increase in current assets s. 80,000
Non-operaling expenses.. s. 40,000

pe 9 expe Ans: Rs. 100,000
From the following information calculate cash flow from operating activities under indirect method. i1
Net income.. Rs. 7,00,000
Non-operaling profit
Decrease in current assets

Ans: Ra. 7,10.000

[2073 GIE Set 8 Q.No. 10] From the following information determine cash from operating activities under indirect meihod 1
Net income... Rs. 1,20,000

..Rs. 60,000

lon operaling expenst
Rs. 20,000

Decrease in current assel:

2079 Set 0 Q.No. 10 Following information are given:
Netincome... ; :
Non-cash expenses =
Decrease in current @Ssels ................covveie...RS. 50,000

lies using indirect method
Required: Cash flow from operaling activities using B

Ans: Rs. 2,00,000
i





